®9 HTHINIRY. EREBRVUUERHEEE — XHE (FR20%F)

BTTE I5% HEESH AERLTEHESH BTHE THY REXEH HERLEHEFE
(I15) (AN) (FA) (Ti5) (A) (FA)

AH&®R —TE 11 218 573290 |[lt B2 — T H 19 70 53,675
K#HEHE ZTBH 23 288 643537 || & — T H 3 30 11,655
KHFRER =TBH 16 77 96,093 | & —TH 10 81 281,362
KHFRER WTEH 55 233 256044 || = =T H 37 270 422,524
KHFRER RTEH 59 198 196950 [f = MM T B 3 48 70,926
A#&m —TE 64 400 442508 || &= H T H 2 X X
XK#HE@ ZTH 87 498 659,364 |f & A< T H 8 75 76,864
X#H#E@ =TBH 76 446 658518 | & £ T H 15 76 102,963
K#Hm WTEH 41 354 741655 [ = J\T H 56 335 450,540
X#HEd ATH 52 236 324937 |t £ — T H 6 44 76,830
X&EH —TE 27 185 384205 |t £ =T H 16 76 64,141
K#FEh =ZTH 22 322 568142 ||t £ =T H 21 122 147,717
XK#HED =TH 21 96 108997 it £ M@ T B 6 52 118,118
A#HEBE —TB 96 602 729920 |t £ E T B 13 101 138,775
X#®E —TEH 57 420 573238 it k£ A T H 8 33 31,696
XK#HEWE =TH 31 312 650,131 |t £ +£ T B 9 59 104,063
K#HEWE WTH 55 682 1,200779 |t £ J\T H 17 160 262,090
XK#HEWE ATH 25 133 140104 [[REE —TH 2 X X
K#HMA ATEH 6 22 14270 [[RES = TH 115 2327 10,124,269
XK#HEAE £TH 25 456 2345345 |[RiEE& =TH 5 74 572,655
K#HFIdE —TEH 3 17 24942 |k & — T B - - -
K#Fd =ZTH 1 X & & = TB8H - - -
K#FIdX =TBH 14 47 42013 & =TEH 1 X X
K#FEd m®TH 5 16 18227 ||| & W TAH - - -
K#FIdX RETEH 5 57 88896 (3 & FH T H - - -
K#HFIdX ATEH 16 81 203821 || & AT H 1 X X
AHEAE—TE 5 75 153848 [k e —TH 3 49 560,088
RKHEABEZTEH 5 16 23811 e —ZTH 50 955 2,529,773
THME —TEHE - - HmEE =TH - - -
THME ZTH - - HEE mTH 14 244 948,340
B =TEH - - HEE ETH - - -
THME WTEHE - - HEE ATH - - -
B ETEHE - - HEE £tTH - - -
EIHME KTEHE - - -|K & #h X i 1,487 13,362 35,205,033
BiE —TEHE 8 172 556571||5 38 By 2 X X
BiE —TEH 9 209 880492|(78 38 By 2 X X
W F —TEH 2 X x|t 38 By 6 35 73,127
W ¥ ZTEH 2 x X8 B B A& 9 69 57,762
W ¥ =TBH 7 44 68719||H & 57 1 A BT 2 X X
W F mTEH 3 51 181354|[HE R/ —T B 8 48 37,827
THMOHELAE - - -|BEHAA=TH - - -
HEA —TEH 31 145 158909|EHEFH =T B - - -
R®REA ZTH 2 X X|[BEEEHET B - - -
mEA —TEH 7 37 33888|HEAAETH 61 57,032
BMEIA ZTH 5 41 21407 & K ¥ H - - -
BEA =TH 3 30 20267|#E DK —TH 5 23 31,331
mEX WTH 5 17 s41lE DA — T H 26 220 326,396
BEA ATH 6 16 7660 DK =TH 19 116 148,992
mEA ATEH 6 38 36436||F B —TBH 16 92 110,211
b A —TEH 6 21 28802 B ZTBH 57 471 788,817
thEA —TH 4 15 2383B|lF B =TB8H 6 22 25,206
b EA =ZTH 6 102 149873|[Fg A AR —T B 3 12 11,293
mEA —TH 18 99 134288|[Fg AR =T B 11 44 42,188
wmEA ZTH 8 50 9178 ANE —TH 4 41 22,206
tEA —TH 6 73 77698|ANE ZTH 23 247 434,169
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BTH THH| WNEEH i%;&.ﬁ.ﬂjﬁ%ﬁ%" BTHE TiHH WEEH HERLTHESE
(Ti8) (AN) (FA) (T15) (A) (FA)
AMNE =TH - - & &= — T8 26 90 73,956
AMNR ETH 3 10 4466 [k -7 = T H 17 122 202,185
ANE HETE 12 202 222997 |[fk & =T B 37 270 435,468
ANE AKTE - - —[EEAHM —TH 27 204 302,863
mTER —TEH 9 44 3171 |IEAH —TH 26 101 69,244
BFHR ZTH 3 2129 IR =TH 32 188 264,231
BFHR =TH 2 X|@EAE —TH 60 276 316,598
dtF+Fx& —TEH 1 X|EAE ZTH 58 283 441,480
dtF&® ZTH 4 7 XEAE =TH 54 625 974,522
dtF+F& =TEH 3 22 24,811 (78 7< 4B TH 46 401 569,204
RIJIBET —TH - - —[FA®M —TH 76 426 537,461
RIJIBET ZTH 1 X XEAE ZTH 94 592 801,824
i —TH 36 273 384,138 | /A<¥ =TH 79 517 1,087,988
it —TH 45 766 1,040,877 |[if < — T B 43 162 146,983
HESHN —TEH 1 X X< =ZTH 20 122 273,572
HEANA ZTH 4 47 136,406 [[{h /< =T B 17 68 63,855
REAX =TH 4 43 45,624 |fh < $F T B 15 101 113,270
HEAS ®TEH 3 10 5850 || FF —TH 41 306 496,177
HESN RTEH 8 56 7379 || FTHF ZTH 80 739 1,619,230
BMEAS —TEH 4 28 48092 [FHF =TH 30 121 128,862
BMEAS ZTEH 1 X FTHF mTH 31 385 1,609,115
BEA =TH 3 6 1261||%« O — T H 36 386 602,734
EEA WMTEH 1 X = O —TBH 78 532 843,607
BEAX ATEHE 6 37 34426 [ O =TH 81 1014 1,863,800
thés —TEH 4 38 100414 BR&X0O0 —TBH 3 X X
t#hés ZTH 1 X XE%&<0O =TH 15 83 79,376
s =TH 16 92 115061 [BR&X 0 =TBH 11 49 41,714
g TH 3 8 4339 ||[ZE)Nl —TA8H 21 176 309,287
tih&d RTEH 17 112 149817 [ZE)II —TH 63 906 2,680,568
R fn #h X Bt 397 3,489 5193428 M —TH 22 66 64,189
"t —TEH 65 537 1,133,935 |lEMHA Z—TH 28 332 590,280
Bt =ZTH 17 158 291194 g B — T H 20 117 156,110
HHitA =TBH 29 210 393955 | EH —TH 65 329 423,661
X xS TH 38 684 1,885,601 @ H =TB8H 30 158 189,195
Hfts RTEH 81 620 1841282 |[FEH A —TH 8 32 28,968
HHta KNTEH 27 362 1,321,516 [FAEH =T 8 7 51 44,098
s —TEH 34 133 129270 [BESEH =TBH 9 66 55,053
witas ZTH 79 433 743,799 ||76 3& B TH 14 62 41,772
witas =TH 82 365 510955 ||fTEEEH H T H 6 50 82,606
it mTH 31 112 125392 [[FESEEH AN TH 2 X X
dt#ta —TEH 50 282 346523 [ A T H 5 11 5,932
T#ts =ZTH 38 266 573331 |[@\@HEA /\TH 4 23 37,156
¥ A B 22 1458 4291917 B — T B 24 211 348,014
B B —TEH 40 209 322813 |58 H =T H 16 41 43,248
B A —TE 25 70 70633 |58 H =T B 6 34 32,018
B B =TE 11 40 30928 [(F H M@ T H 8 52 47,689
¥ H m™TEH 13 84 71001 [ B HTH 6 97 71,273
B B ETEH 15 47 39,241 [(EEAB —TH 7 85 197,441
B B KTEH 9 54 49,173 [[EEHABI ZTH 17 103 200,433
APH —TEH 96 448 1,679,165 | EH — T B 11 35 21,720
AFE —TEH 91 779 1610429 #iE —TH 9 29 26,132
AFHE =TH 16 154 256,128 i EH =T B 28 131 172,468
FHZEE—TE - - -1 B # R it 2,478 18,890 37,560,203
PHZEE-TH - - Il
FEHZEE=TH - - & it 4,362 35,741 77,958,664
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